

PSYCHOLOGICAL EFFECTS OF THE COVID-19 PANDEMIC IN NORTH CYPRUS: A POPULATION-BASED NATIONWIDE STUDY

Bengü Berkmen

Cyprus International University, Faculty of Arts and Sciences, Department of Psychology
North Cyprus via Mersin 10 Turkey

received: 29.09.2021;

revised: 30.09.2022;

accepted: 05.10.2022

Summary

Background: While the initial wave of the COVID-19 pandemic was controlled much better in North Cyprus, the number of cases saw a rapid increase as of November 2020. Local authorities implemented further restrictions with a second lockdown across the country to bring the cases under control. The present study aims to identify the potential predictors of COVID-19 related obsessions of adults during the second lockdown.

Subjects and Methods: This is a descriptive survey conducted with 652 participants over the age of 18. The Obsession with COVID-19 Scale, Coronavirus Anxiety Scale, and a Demographic Information Form were used to obtain information. Data were analyzed using SPSS and Spearman's Rho was calculated to examine existing relationships between COVID-19 anxiety and other research variables. A linear regression analysis was conducted to identify potential predictors of COVID-19 related obsessions.

Results: Participants infected with the COVID-19 virus had higher levels of anxiety and obsessions than those who weren't. The sample multiple correlation coefficient was .66, indicating that approximately 43% of the variance of the COVID-19 related obsessions was accounted for by the linear combination of strength measures. As expected, anxiety, positively and being infected with COVID-19 negatively predicted COVID-19 related obsessions.

Conclusion: The similarities and differences of the findings were compared with the results from the literature, yet the relationship between variables was identified to be higher when compared to similar studies.

Keywords: Anxiety, Obsessions, COVID-19 Pandemic, North Cyprus

* * * * *

INTRODUCTION

It has been over two years since the world met with the COVID-19 pandemic, which is still a threat. While initial data, between March 2020 – January 2021, pointed to a total of 92 million cases with COVID-19 related deaths up to 2 million, by July 2021, both of these figures had doubled (World Health Organization 2021).

North Cyprus, located on a small island in the Mediterranean Sea, has a population of approximately 300,000, implemented strict border control measures, which effectively closed off the entire country after the first COVID-19 case, which was seen in March 2020. During the implementation of the first lockdown, individuals were allowed to go out and get their needs for food and basic provisions, seek help for urgent health-care, and continue with their farming activities. The first wave of pandemic was surpassed with low number of cases mainly due to the timely measures taken by the government.

However, in November 2020, the local government employed less strict border-control measures, allowing the entrance of passengers who would travel for a short

period without any quarantine measures. Consequently, the number of local cases increased dramatically and the pandemic hospital and quarantine centers had to work beyond full capacity. Subsequently another lockdown was re-imposed across the country. The total number of cases detected in the country until the second lockdown was 3192, and the number of daily cases was averaged at 60 by the end of January 2021 (TRNC Ministry of Health 2021).

Pandemics affect physical and mental health (Choi et al. 2020). According to WHO (2022), many countries have completed prevalence surveys pertaining to the mental health consequences of COVID-19, which have suggested that COVID-19 led to an approximate 25% increase in people's anxiety levels. Based on this report, this data can be considered as the "tip of an iceberg".

Like the Swine Flu (Brand et al. 2013) and Ebola (Blakey et al. 2015) viruses, significant associations between anxiety and obsessive symptoms were observed during COVID-19 (American Psychological Association 2020; Fineberg et al. 2020). Even though vaccines have been developed to reduce the risk of disease, the uncertainty surrounding viruses and the fact that they can

mutate are among the various reasons as to why many people continue to experience anxiety associated with viruses (Moghanibashi-Mansourieh 2020). High levels of contamination related anxiety, which may cause an unwanted, persistent and perpetual need for constant washing and hygiene, can be classified under the obsessive compulsive disorder diagnostics as specified in the DSM-5 (Ji et al. 2020). In addition to how the virus spreads, its lethality could also increase anxiety and obsessions regarding COVID-19 in individuals (Arrowood & Cox 2020; Aqeel et al. 2020; Kontoangelos et al. 2020; Pyszczyński et al. 2020; Shuja 2020).

Many studies have reported that constant exposure to news regarding COVID-19 and related death have led to an increase in people's anxiety and obsessions about COVID-19 (Joaquim et al. 2021; Shamir et al. 2021; Tsou et al. 2021; Chen et al. 2022). On the contrary, the same relationship wasn't found with regards to death news in another study (Silva et al. 2021). According to this, whether people consciously believe that the virus is a major threat to life or just a minor inconvenience, the fear of death plays an important role to modulate attitudes and behaviors associated with the virus (Breen et al. 2021).

Evidence pertaining to the associations of the COVID-19 pandemic, public health measures and mental health is limited in North Cyprus. Nevertheless, Turkish Cypriots have shown similar psychological effects, such as anxiety-related behaviors. There are two published studies about the psychological effects of COVID-19 in North Cyprus; one of them compares social media usage with anxiety (Kaya 2020), and the other is a review of the Turkish Cypriot's lockdown situation because of COVID-19 and their traumatic history (Volkan & Volkan 2020). With this in mind, this study will contribute both to the literature on pandemic studies and to future studies on a country basis.

Ever since the pandemic started, many researchers have studied people's anxiety levels and reached similar results (Huang & Zhao 2020; Mrklas et al. 2020; Solomou & Constantinidou 2020)2019. We aimed to assess the mental health burden of Chinese public during the outbreak, and to explore the potential influence factors. Using a web-based cross-sectional survey, we collected data from 7,236 self-selected volunteers assessed with demographic information, COVID-19 related knowledge, generalized anxiety disorder (GAD). A meta-analysis study found the prevalence of anxiety levels to be 31.9% (Salari et al. 2020). According to a study in China, nearly 10% of the participants were found to show symptoms of anxiety, with the older participants manifesting higher levels (Zhu et al. 2020). Another study in Belgium, France, and Canada, a significant percentage of participants reported

feeling anxious due to the uncertainty of the COVID-19 pandemic (Głowacz & Schmits 2020). These prevalence studies point towards a trend of increasing anxiety levels among individuals, within the context of the COVID-19 pandemic, which is understandable.

In addition to the prevalence studies on people's anxiety levels, the existing literature on situational factors related to COVID-19, such as the duration of the lockdown periods and whether or not individuals contracted the virus, were examined for their potential impact on the levels of anxiety experienced. Rehman et al. (2021) conducted a study in India and found that people who lacked sufficient supplies to sustain the lockdown were the most affected and economic status was identified to be negatively correlated with stress and anxiety. Wang et al. (2020) conducted a study where 75% of the participants were observed to be worried whether their families would be infected with the virus and the results reflected a significant relationship between the level of anxiety and contracting COVID-19.

With anxiety studies, it is necessary to examine how COVID-19 related obsessions are also affected. The necessity of washing hands, wearing masks, and consistently following social distancing rules to reduce the risk of transmission are examples that fully correspond with the underlying dynamics of obsessions (Fontelle & Miguel 2020). Furthermore, obsessions are also closely related to the anxiety levels, since anxiety regarding disease contraction could lead to an increase in obsessions. While some studies examine the obsession levels of already diagnosed people (Davide et al. 2020; Khosravani et al. 2021; Tanir et al. 2020), there are relatively fewer studies examining COVID-19 related obsessions in daily life. (Chakraborty & Chatterjee 2020; Srivastava et al. 2020).

A study from 31 cities in India analyzed anxiety, obsession and fear levels related to COVID-19 and identified that half of the participants had mental health problems, and a significant positive relationship was found between fear, anxiety and COVID-19 related obsessions (Srivastava et al. 2020). Parallel with other studies, Mejeed et al. (2021) found a significant positive relationship between anxiety and COVID-19 related obsessions. Knowles and Onalurji (2021) found that the participants' obsessive handwashing behaviors increased compared to pre-COVID-19, and anxiety and protective behaviors increased respectively. However, obsessive-compulsive washing symptoms didn't significantly predict coronavirus-related anxiety. Bahçecioğlu Turan et al. (2021), found that there was a positive significant relationship between obsessions, helpless approach and submissive approach, and a negative significant relationship between

obsessions and self-confidence. Unlike the positive correlational relationship between anxiety and COVID-19 related obsessions have been observed across the literature predictive analyses between the two variables indicate conflicting results. At this point, it can be suggested that COVID-19 related obsessions are different from the obsessions found in the diagnostics criteria for obsessive-compulsive disorder (OCD). Hence in OCD, the repeated misinterpretation of intrusive thoughts leads to the development of the obsessions and since the thoughts are overly distressing, the individual engages in compulsive behavior trying to resist, block, or neutralize the obsessive thoughts. Therefore, it can be safe to say that obsessions and compulsions compose a vicious circle that feeds each other. However, in COVID-19, the sense of danger is outside and real unlike OCD. Consequently, predictive analyzes may not lead to results as expected from prior research.

Studies on anxiety and obsessions related to COVID-19 suggest that these two concepts are related. Further studies conducted during the COVID-19 period point to important results regarding the effects of contracting COVID-19 with regards to anxiety. Milman et al. (2022) revealed that contracting COVID-19 increases anxiety, and an infection or loss of a loved one also increases obsessions in addition to anxiety. Studies in Italy (Fioravanti et al. 2022) and Denmark (Sønderskov et al. 2021) observed that, unlike in the first wave, the psychological symptoms of individuals increased in the second wave of the pandemic. In both studies, the increase in psychological symptoms after the first lockdown may be associated with the fact that some precautions had to be extended despite the ongoing spread of infection.

In North Cyprus, the first wave ended with only 4 cases due to stringent lockdown rules and in November 2020, the cases increased dramatically because of a much more lenient approach. Since the increase in contamination may be related to the fact that individuals do not feel safe about getting infected with COVID-19, it was debated on whether or not to include individuals had been infected with COVID-19 in the study. The literature review revealed that there was a need to examine the psychological effects of COVID-19 in individuals since there was no study on this subject matter in North Cyprus. The present study aims to identify potential predictors for obsessions regarding COVID-19 in a large sample of adults during the second lockdown in North Cyprus. We explored the novel hypothesis that individuals with higher anxiety levels would have higher obsessions about COVID-19. It was also assumed that contracting COVID-19 might also affect anxiety levels regarding the virus.

SUBJECTS AND METHODS

Research Model

The present study examined the relationship between COVID-19 related obsessions and anxiety levels among Turkish Cypriots, while checking COVID-19 related anxiety and COVID-19 infection status. In this context, this study uses a descriptive research survey model. A survey allows to determine and examine the current situation of a group according to its various characteristics (Sönmez & Alacapınar 2014; Büyüköztürk et al. 2017). Although a cause and effect relationship isn't sought in this study, the data obtained from the present study will provide insight about potential future research questions (Stimson 2014).

Population and Sample

The population consists of individuals over the age of 18 living in North Cyprus. According to the last census reports for North Cyprus in 2011, there are a total of 195000 individuals over the age of 18 (TRNC Statistical Institute 2011). The sample size for this study was calculated with where at least 598 participants were needed with a 95% reliability rate (Krejcie & Morgan 1970; Tabachnick & Fidell 2012). A snowball sampling method (Sönmez & Alacapınar 2014) was used. 660 electronic questionnaires were shared with individuals via the internet to achieve the calculated target sample size. 655 questionnaires were returned, but three of them had incomplete data. Hence, the data of 652 participants (466 females and 186 males) were considered valid and used in further statistical analyses. Table 1 shows the descriptive data for participant's demographic information.

Research Instruments

The Obsession with COVID-19 Scale, Coronavirus Anxiety Scale, and a Demographic Information Form were used to collect data.

The Obsession with COVID-19 Scale (OCS)

The scale was developed by Lee (2020a) and adapted to Turkish by Evren et al. (2020) Obsession with COVID-19 Scale (OCS to measure persistent and disturbing thoughts about COVID-19. The scale is a one-dimensional scale with 4 items such as "*I couldn't stop thinking about the coronavirus*" and "*I dreamed about coronavirus*". The scale is a five-point Likert-type scale ranging from selections of none (0) to almost every day (4). A total score above 7 on the scale indicates dysfunctional thinking associated with coronavirus. The reliability coefficient of

the original and the Turkish scale version was found as 0.84 and 0.71, respectively.

Coronavirus Anxiety Scale (CAS)

This scale was developed by Lee (2020b) and adapted to Turkish by Evren et al. (2020). Obsession with COVID-19 Scale (OCS) aims to determine dysfunctional anxiety associated with the coronavirus crisis. The scale is a one-dimensional scale consisting of 5 items such as “*I had trouble falling or staying asleep because I was thinking about the coronavirus.*” and “*I felt nauseous or had stomach problems when I thought about or was exposed to information about the coronavirus.*”. The scale uses a five-point Likert-type scale with responses ranging between none (0) and almost every day (4). A total score above 9 on the scale indicates high anxiety associated with coronavirus. The reliability coefficient of the original and the Turkish scale was found as 0.93 and as 0.80, respectively.

Demographic Information Form

The researcher(s) developed the Demographic Information Form to obtain demographic characteristics of the participants. The form includes questions about age, gender, city of residence and COVID-19 infection status.

Obtaining Required Permissions

Ethics committee approval was obtained from Cyprus International University Ethics Committee. Participants were given the informed consent before administering the surveys. Participants were given information regarding the purpose of the present study, conditions of participation and their right to withdraw from the study at any point.

Collection of Data

The data collection process was carried out using Google Forms due to the ongoing COVID-19 pandemic. The survey announcement was made through social networking sites and applications such as Facebook and WhatsApp. Data were collected between February 18-25, 2021.

STATISTICAL ANALYSIS

The data were analyzed using SPSS 21. Initial statistical analysis consisted of data distribution in terms of normality, validity and reliability of the scales. As there was a skewed distribution, non-parametric tests were applied to compare participants scores based

on their descriptive and demographic characteristics. Spearman's Rho was used to examine existing correlations between COVID-19 anxiety and the other research variables. A multiple regression analysis was conducted to test factors predicting anxiety level and COVID-19 infection and obsessions with COVID-19. Therefore, the independent variables for this study were people's COVID-19 infection status and anxiety level, and the dependent variable was the level of obsessions with COVID-19.

RESULTS

To analyze data normality, a Kolmogorov-Smirnov test was conducted on CAS and OCS, $D(652) = .33$ and $D(652) = .17$ to determine whether the data had a normal distribution respectively. The QQ plot was evaluated for CAS and OCS and it was concluded that the data didn't show a normal distribution, since the skewness and kurtosis values of the distribution weren't within the range of -1.5 and +1.5 (Tabachnick & Fidell 2012). Next, validity and reliability values for both scales were calculated. For validity, the Kaiser-Meyer-Olkin coefficients of CAS and the OCS were found to be .83 and .75, respectively; and Bartlett's sphericity test results were calculated as $\chi^2(10) = 2230.797$; $p < 0.001$ for CAS and $\chi^2(6) = 930.653$; $p < 0.001$ for OCS. Cronbach Alpha internal consistency coefficients of the scales were calculated as .90 for CAS and .79 for OCS and were accepted as reliable since they were over .70 (Ahmed et al. 2020; Caycho-Rodríguez et al. 2021; Choi et al. 2020). Next analyses consisted of examining participant scores from the scales according to their demographic characteristics.

Mann Whitney U tests were conducted to evaluate the hypothesis that infected people's scores were higher than the people who had not contracted COVID-19, which can be seen in Table 2. Test results obtained were in the expected direction and found to be significant, $z = -2.24$, $p < .05$ for CAS and $z = -3.78$, $p < .01$ for OCS. According to these results, infected people had an average rank of 399.79 for CAS and 459.50 for OCS. Findings suggest that people who were infected with COVID-19 had higher levels of anxiety and obsessions when compared to those who weren't infected.

The relationship between obsessions about COVID-19 and other variables were tested using Spearman's Rho correlation coefficient, which can be found in Table 3. COVID-19 obsessions were positively correlated with COVID-19 anxiety. However, a significantly negative correlation was found between obsessions with COVID-19 and getting infected.

A multiple regression analysis was performed to evaluate how well COVID-19 anxiety level and COVID-19 infection status predicted obsessions about COVID-19. The linear combination of anxiety level and getting infected with COVID-19 was predicted to obsessions, $F(3,645)=166.11$, $p<.01$. The sample multiple correlation coefficient was .66, indicating that approximately 43% of the variance of the COVID-19 with obsessions in the sample could be accounted for by the linear combination of strength measures. Pursuant to Table 4, three variables predicted the significance of obsessions about COVID-19 among the predictor variables: Anxiety level about COVID-19, and getting infected. As expected, anxiety levels about COVID-19 have positive and meaningful associations ($\beta=0.61$, $p<0.01$), whereas getting infected negatively predicted COVID-19 anxiety ($\beta=-0.15$, $p<0.01$, and $\beta=-0.10$, $p<0.00$, respectively). Table 4 also shows that the values for the two indices of tolerance and variance inflation factor (VIF) are in the appropriate ranges as proposed by Tabachnick and Fidell (2012), which suggests that there are no multicollinearity issues in relation to the variables in the regression analysis.

DISCUSSION

The present study aimed to identify the predictors for obsessions about COVID-19 during the second lockdown in North Cyprus. Pandemic mental health studies address issues such as fear and anxiety related to COVID-19 (Kumcağız & Göksu 2020, Shuja et al. 2020). Initial studies were conducted with specific groups such as high-risk healthcare workers and infected individuals (Fioravanti et al. 2022, Fountoulakis et al. 2021, Moayed et al. 2021, Tan et al. 2020) and the general population (Das et al. 2021) where such prevalence studies revealed increased levels of anxiety and distress in individuals. Wu et al. (2021) conducted a meta-analysis study and observed that the anxiety rates in individuals during the COVID-19 period differed between 6.3% and 87.5%.

There have also been mental health studies that focused on individuals diagnosed with OCD during the pandemic (Guzick et al. 2021; Jelinek et al. 2021, Wheaton et al. 2021) and the obsessions about COVID-19, which is the unspoken part of COVID-19 pandemic. Therefore, obsessions related to COVID-19 were included in our study to understand the persistent thoughts that may be observed in individuals who do not have an OCD diagnosis. Protective rules were initiated as a must to be followed to avoid getting infected with COVID-19, which kept COVID-19 related thoughts alive. Al-Shatanawi et al. (2021) conducted a study concluding that students

who were informed about COVID-19 had higher obsession levels. Another cross-sectional study conducted in Canada showed that nearly 60% of the participants' obsession levels increased because of COVID-19 (Abba-Aji et al. 2020).

As seen in the regression analysis, the level of anxiety about COVID-19 leads to a significant and positive prediction of obsessions with COVID-19. Studies in the literature indicate a strong relationship between the pandemic and anxiety (Kar & Bastia 2006; Liu et al. 2020; WHO 2022). In studies on previous pandemic threats, obsessive symptoms of outbreaks were identified to be connected with anxiety (Brand et al. 2013; Wheaton et al. 2010; Wheaton et al. 2012), and similar findings have also been found in studies on COVID-19 (McKay et al. 2020; Wheaton et al. 2021). Therefore, in addition to the compliance obligations with hygiene rules along with consistent and regular physical distancing to minimize the risk of infection, it can be interpreted that the spreading pattern of the virus triggers anxiety and therefore individuals may feel the necessity to employ precautionary safety behaviors

Due to the uncontrolled increase in local contamination rates, the present study examined whether the anxieties and obsessions of the individuals on this issue differed according to whether they had previously contracted COVID-19. Although only 4% of the participants were previously infected, the results were found to be statistically significant and showed that the anxiety and obsession levels of individuals who had previously been infected with COVID-19 were higher than those who had not been infected. Despite the low proportion of infected participants, results may be related to the fact that North Cyprus was facing the effects of COVID-19. Although the lockdown started with strict rules following the first case in March 2020, local transmission started in North Cyprus in November 2020 and hospital units allocated for pandemic patients were filled in a very short time.

Findings obtained in the following studies also show parallel results with this study. In a study conducted by Samuels et al. (2021), supports a relationship between obsessions related to COVID-19 and getting infected with COVID-19. It was observed that the fear of negative consequences associated with the disease and anxiety regarding disease transmission to loved ones negatively affected the mental health of individuals who had a potentially fatal infection and who had to stay in quarantine in a hospital or a private facility (Desclaux et al. 2017; Jeong et al. 2016). In another study, the anxiety level was found to be higher in COVID-19 patients than in other individuals (Xu et al. 2020). De Pietri and Chiorri's (2021) found that inadequate quarantine conditions

and the inability to receive appropriate treatment, in the case of infection, affected individuals' anxiety levels. Our study concluded that having COVID-19 had a significant and negative predictive effect on their obsessions regarding COVID-19, which is different from the abovementioned studies. This can be interpreted as due to the fact that people infected in North Cyprus had the disease with mild symptoms during the first lockdown, and the effects of the pandemic weren't experienced at a severe level (such as a high mortality rates or high patient counts in intensive care), so obsessions related to the disease decreased.

Overall, our findings show that psychological factors are also effective in relieving anxiety caused by COVID-19 prevalence. Regression analysis results show that 43% of the variance in the obsessions variable with COVID-19 can be explained by the predictor variables. Although there are similar studies in the literature, it has been observed that obsessions with COVID-19 aren't considered as a dependent variable, and obsessions are examined as a predictor variable in studies (Brand et al. 2013; Wheaton et al. 2021). Knowles and Olatunji (2021) revealed that a fear of COVID-19 transmission and obsessive-compulsive washing symptoms didn't significantly affect coronavirus-related anxiety. Romero-Gonzalez et al. (2020) conducted a study with pregnant women and found that the age and fear of infection predicted the stress level of COVID-19 as 28%. According to Malesza and Kaczmarek (2021), the tendency of increased anxiety level by demographic characteristics (gender, age, chronic illness) was examined and predictive rate found to be 36%. In this study, unlike other studies, COVID-19 associated anxiety (loss of appetite, sleep problems) and the effects of getting infected with COVID-19 were examined respectively. In this context, we can say that our study findings have a higher predictive rate than the studies in the literature.

Like other studies, this study has some limitations. Due to the pandemic, the study had to be conducted over an online platform. As a result of this methodological choice, individuals who didn't use or have access to

smartphones, computers, or tablets and/or didn't have any internet access could not participate in the study. Another limitation of the study is that it only covers individuals over the age of 18; therefore, it does not provide any data on children and adolescents. It is recommended that future studies focus on individuals without internet access, as well as children and adolescents who have faced COVID-19 with adults.

CONCLUSIONS

This study is the first to be conducted, on the mental health of individuals in North Cyprus, during the COVID-19 pandemic. It was aimed to investigate factors that seemed to be influential in arousing people's obsessions with COVID-19. As predicted, all of the main study variables were significantly associated with obsessions with COVID-19. It is thought that the results obtained during this timeframe, which was during the very first aggressive peak in North Cyprus where there was an increase in the number of cases and the local spread rate could not be controlled, will provide information pertaining to preventive mental health care to professionals in the field. Based on WHO's (2020), if protective measures, which facilitate and promote psychological well-being, are ignored as a result of COVID-19 individuals will likely experience psychological, social, and economic difficulties. However, it is hoped that the present results will contribute to the scientific research data in other countries and be seen as a starting point for studies in the North Cyprus.

Acknowledgements: None

Ethical Considerations: Does this study include human subjects? YES

Authors confirmed the compliance with all relevant ethical regulations.

Conflict of interest: Declare to none

Funding sources: None

References

1. Abba-Aji A, Li D, Hrabok M, Shalaby R, Gusnowski A, Vuong W, et al. COVID-19 Pandemic and Mental Health: Prevalence and Correlates of New-Onset Obsessive-Compulsive Symptoms in a Canadian Province. *Int J Environ Res Public Health*. 2020 24;17(19):6986.
2. Ahmed O, Faisal RA, Sharker T, Lee SA, Jobe MC: Adaptation of the Bangla Version of the COVID-19 Anxiety Scale. *International Journal of Mental Health and Addiction*. 2020; 27:1-12. <https://doi.org/10.1007/s11469-020-00357-2>
3. Al-Shatanawi TN, Sakka SA, Kheirallah KA, Al-Mistarehi A-H, Al-Tamimi S, Alrabadi N, et al. Self-reported obsession toward COVID-19 preventive measures among undergraduate medical students during the early phase of pandemic in Jordan. *Front Public Heal*. 2021; 8. <https://doi.org/10.3389/fpubh.2021.719668>
4. APA: New Poll: COVID-19 impacting mental well-being: Americans feeling anxious, especially for loved ones; older adults are less anxious, 2020. <https://www.psychiatry.org/newsroom/news-releases/new-poll-covid-19-impacting-mental-well-being-americans-feeling-anxious-especially-for-loved-ones-older-adults-are-less-anxious>
5. Arrowood RB, Cox CR. *Terror Management Theory*. *Brill Res Perspect Relig Psychol*. 2020 Feb 18;2(1):1–83. <https://doi.org/10.1163/25897128-12340003>
6. Ashraf F, Lee SA, Elizabeth Crunk A: Factorial validity of the Urdu version of the Obsession with COVID-19 Scale: Preliminary investigation using a university sample in Pakistan. *Death Studies*. 2020; 18:1-6. <https://doi.org/10.1080/07481187.2020.1779436>
7. Bahçecioglu Turan G, Köse S, Aksoy M: Analysis of nursing students' obsessive and coping behaviors during the COVID-19 pandemic. *Perspectives in Psychiatric Care*. 2021; 23:10.1111/ppc.12728.
8. Blakey SM, Reuman L, Jacoby RJ, Abramowitz JS: Tracing "Fearbola": Psychological predictors of anxious responding to the threat of Ebola. *Cognitive Therapy and Research*. 2015; 39:816-825. <https://doi.org/10.1007/s10608-015-9701-9>
9. Brand J, McKay D, Wheaton MG, Abramowitz JS: The relationship between obsessive compulsive beliefs and symptoms, anxiety and disgust sensitivity, and Swine Flu fears. *Journal of Obsessive-Compulsive and Related Disorders*. 2013; 2:200-206. <https://doi.org/10.1016/j.jocrd.2013.01.007>
10. Breen LJ, Lee SA, Neimeyer RA. Psychological risk factors of functional impairment after COVID-19 deaths. *J Pain Symptom Manage*. 2021 Apr;61(4):e1–4. <https://doi.org/10.1016/j.jpainsymman.2021.01.006>
11. Brooks SK, Webster RK, Smith LE, Woodland L, Wessely S, Greenberg N et al.: The psychological impact of quarantine and how to reduce it: rapid review of the evidence. *The Lancet*. 2020; 14:912-920. [https://doi.org/10.1016/S0140-6736\(20\)30460-8](https://doi.org/10.1016/S0140-6736(20)30460-8)
12. Büyükoztürk Ş, Kılıç Çakmak E, Erkan Akgün Ö, et al. [Scientific research methods]. In *Turkish*; Ankara, 2017. <https://doi.org/10.14527/9789944919289>
13. Caycho-Rodríguez T, Vilca LW, Carbajal-León C, et al.: Coronavirus Anxiety Scale: New psychometric evidence for the Spanish version based on CFA and IRT models in a Peruvian sample. *Death Studies*. 2021; 1-10. <https://doi.org/10.1080/07481187.2020.1865480>
14. Chakraborty K, Chatterjee M: Psychological impact of COVID-19 pandemic on general population in West Bengal: A cross-sectional study. *Indian Journal of Psychiatry*, 2020; 62: 266-72.
15. Chen X, Liu T, Li P, Wei W, Chao M. The relationship between media involvement and death anxiety of self-quarantined people in the COVID-19 outbreak in China: The mediating roles of empathy and sympathy. *OMEGA - J Death Dying* 2022; Sep 21;85(4):974–89. <https://doi.org/10.1177/0030222820960283>
16. Choi E, Lee J, Lee SA: Validation of the Korean version of the obsession with COVID-19 scale and the Coronavirus anxiety scale. *Death Studies*. 2020; 14:1-7. <https://doi.org/10.1080/07481187.2020.1833383>
17. Davide P, Andrea P, Martina O, et al. The impact of the COVID-19 pandemic on patients with OCD: Effects of contamination symptoms and remission state before the quarantine in a preliminary naturalistic study. *Psychiatry Research*, 2020; 291: 113213. <https://doi.org/10.1016/j.psychres.2020.113213>
18. De Pietri S, Chiorri C: Early impact of COVID-19 quarantine on the perceived change of anxiety symptoms in a non-clinical, non-infected Italian sample: Effect of COVID-19 quarantine on anxiety. *Journal of Affective Disorders Reports* 2021; 4:100078. <https://doi.org/10.1016/j.jadr.2021.100078>
19. Desclaux A, Badji D, Ndione AG, Sow K: Accepted monitoring or endured quarantine? Ebola contacts' perceptions in Senegal. *Social Science and Medicine* 2017; 178:38-45. <https://doi.org/10.1016/j.socscimed.2017.02.009>
20. Evren C, Evren B, Dalbudak E, Topcu M, Kutlu N: Measuring anxiety related to COVID-19: A Turkish validation study of the Coronavirus Anxiety Scale. *Death Studies* 2020; 3:1-7. <https://doi.org/10.1080/07481187.2020.1774969>
21. Fineberg NA, Van Ameringen M, Drummond L: How to manage obsessive-compulsive disorder (OCD) under COVID-19: A clinician's guide from the International College of Obsessive Compulsive Spectrum Disorders (ICOCS) and the Obsessive-Compulsive and Related Disorders Research Network (OCRN) of the European College of Neuropsychopharmacology. *Comprehensive Psychiatry* 2020;100:152174. <https://doi.org/10.1016/j.comppsy.2020.152174>
22. Fioravanti G, Bennucci SB, Banchi V, Casale S. Effects of the COVID-19 pandemic on psychological health in a sample of Italian adults: A three-wave longitudinal study. *Psychiatry Res* 2022;315. <https://doi.org/10.1016/j.psychres.2022.114705>
23. Fontenelle LF, Miguel EC: The impact of COVID-19 in the diagnosis and treatment of obsessive-compulsive disorder. *Depress Anxiety* 2020; 37:510-1.

24. Fountoulakis KN, Apostolidou MK, Atsiova MB, et al: Self-reported changes in anxiety, depression and suicidality during the COVID-19 lockdown in Greece. *Journal of Affective Disorders* 2021; 279, 624–629. <https://doi.org/10.1016/j.jad.2020.10.061>
25. Glowacz F & Schmits E: Psychological distress during the COVID-19 lockdown: The young adults most at risk. *Psychiatry Research* 2020; 293:113486. <https://doi.org/10.1016/j.psychres.2020.113486>
26. Kumcağız H & Göksu Ö: Covid-19 salgınında bireylerde algılanan stres düzeyi ve kaygı düzeyleri. *J Turkish Stud* 2020; 15, 463–79. <http://dx.doi.org/10.7827/TurkishStudies.44397>
27. Guan WJ, Ni ZY, Hu Y, et al: Clinical Characteristics of Coronavirus Disease 2019 in China. *New England Journal of Medicine* 2020; 382:1708-1720.
28. Huang Y & Zhao N: Generalized anxiety disorder, depressive symptoms and sleep quality during COVID-19 outbreak in China: a web-based cross-sectional survey. *Psychiatry Research* 2020; 288:112954. <https://doi.org/10.1016/j.psychres.2020.112954>
29. Jeong H, Yim HW, Song YJ, et al.: Mental health status of people isolated due to Middle East Respiratory Syndrome. *Epidemiology and Health* 2016; 38: e2016048. <https://doi.org/10.4178/epih.e2016048>
30. J Ji G, Wei W, Yue KC, Li H, Shi LJ, Ma JD, et al.: Effects of the COVID-19 Pandemic on Obsessive-Compulsive Symptoms Among University Students: Prospective Cohort Survey Study. *Journal of Medical Internet Research* 2020; 30:e21915. <https://doi.org/10.2196/21915>
31. Joaquim RM, Pinto ALCB, Guatimosim RF, de Paula JJ, Souza Costa D, Diaz AP, et al. Bereavement and psychological distress during COVID-19 pandemics: The impact of death experience on mental health. *Curr Res Behav Sci* 2021 Nov;2:100019. <https://doi.org/10.1016/j.crbeha.2021.100019>
32. Kar N & Bastia BK: Post-traumatic stress disorder, depression and generalised anxiety disorder in adolescents after a natural disaster: a study of comorbidity. *Clinical Practice and Epidemiology in Mental Health* 2006; 2.1: 1-7. <https://doi.org/10.1186/1745-0179-2-17>
33. Kaya T: The changes in the effects of social media use of Cypriots due to COVID-19 pandemic. *Technology in Society* 2020; 63:101380. <https://doi.org/10.1016/j.tech-soc.2020.101380>
34. Khosravani V, Aardema F, Ardestani SMS, et al.: The impact of the coronavirus pandemic on specific symptom dimensions and severity in OCD: A comparison before and during COVID-19 in the context of stress responses. *Journal of Obsessive-Compulsive and Related Disorders* 2021; 29: 100626. <https://doi.org/10.1016/j.jocrd.2021.100626>
35. Knowles KA & Olatunji BO: Anxiety and safety behavior usage during the COVID-19 pandemic: The prospective role of contamination fear. *Journal of Anxiety Disorders* 2021; 77:102323. <https://doi.org/10.1016/j.janxdis.2020.102323>
36. Kontoangelos K, Economou M, Papageorgiou C: Mental Health Effects of COVID-19 Pandemia: A Review of Clinical and Psychological Traits. *Psychiatry Investigation* 2020; 17:491-505. <https://doi.org/10.30773/pi.2020.0161>
37. Lee SA: How much “Thinking” about COVID-19 is clinically dysfunctional?. *Brain, Behavior, and Immunity* 2020a; 87:97-98. <https://doi.org/10.1016/j.bbi.2020.04.067>
38. Lee SA. Coronavirus Anxiety Scale: A brief mental health screener for COVID-19 related anxiety. *Death Stud* 2020b; 44:7, 393-401, <https://doi.org/10.1080/07481187.2020.1748481>
39. Liu N, Zhang F, Wei C, et al.: Prevalence and predictors of PTSS during COVID-19 outbreak in China hardest-hit areas: Gender differences matter. *Psychiatry Research* 2020; 287:112921. <https://doi.org/10.1016/j.psychres.2020.112921>
40. Mahat-Shamir M, Pitcho-Prelourentzos S, Kagan M, Kestler-Peleg M, Lavenda O. Adjustment disorder in the face of COVID-19 outbreak: The impact of death anxiety, media exposure, fear of contagion and hypochondriasis symptoms. *OMEGA - J Death Dying* 2021 Jul 29;003022282110343. <https://doi.org/10.1177/00302228211034372>
41. Majeed S, Schwaiger EM, Nazim A, et al.: The Psychological Impact of COVID-19 Among Pakistani Adults in Lahore. *Frontiers in Public Health* 2021; 9:578366. <https://doi.org/10.3389/fpubh.2021.578366>
42. Major B, Cozzarelli C, Horowitz MJ, et al.: *Encyclopedia of Psychology*: 8 Volume Set 2000.
43. Malesza M & Kaczmarek MC: Predictors of anxiety during the COVID-19 pandemic in Poland. *Personality and Individual Differences* 2021; 170:110419. <https://doi.org/10.1016/j.paid.2020.110419>
44. McKay D, Yang H, Elhai J, et al.: Anxiety regarding contracting COVID-19 related to interoceptive anxiety sensations: The moderating role of disgust propensity and sensitivity. *Journal of Anxiety Disorders* 2020; 73:102233. <https://doi.org/10.1016/j.janxdis.2020.102233>
45. Milman E, Lee SA, Neimeyer RA. Social isolation and the mitigation of coronavirus anxiety: The mediating role of meaning. *Death Stud [Internet]* 2022 Jan 2;46(1):1–13. Available from: <https://www.tandfonline.com/doi/full/10.1080/07481187.2020.1775362>
46. Moghanibashi-Mansourieh A: Assessing the anxiety level of Iranian general population during COVID-19 outbreak. *Asian Journal of Psychiatry* 2020; 51:102076. <https://doi.org/10.1016/j.ajp.2020.102076>
47. Mrklas K, Shalaby R, Hrabok M, Gusnowski A, Vuong W, Surood S et al.: Prevalence of Perceived Stress, Anxiety, Depression, and Obsessive-Compulsive Symptoms in Health Care Workers and Other Workers in Alberta During the COVID-19 Pandemic: Cross-Sectional Survey. *JMIR Mental Health* 2020; 25:e22408. <https://doi.org/10.2196/22408>
48. Pyszczynski T, Lockett M, Greenberg J, Solomon S. Terror Management Theory and the COVID-19 Pandemic. *J Humanist Psychol* 2021 Mar 17;61(2):173–89. <https://doi.org/10.1177/0022167820959488>
49. Rehman U, Shah Nawaz MG, Khan, NH, et al.: Depression, anxiety and stress among indians in times of covid-19 lockdown. *Community Mental Health Journal* 2021; 57: 42–48. <https://doi.org/10.1007/s10597-020-00664-x>
50. Romero-Gonzalez B, Puertas-Gonzalez JA, Mariño-Narvaez C, Peralta-Ramirez MI: Confinement variables by COVID-19 predictors of anxious and depressive symptoms in pregnant women. *Medicina Clinica* 2021; 26:172-176. <https://doi.org/10.1016/j.medcli.2020.10.002>
51. Samuels J, Hollingue C, Nestadt P, Bienvenu OJ, Phan P, Nestadt G. Contamination-related behaviors, obsessions, and compulsions during the COVID-19 pandemic in a United States population sample. *J Psychiatr Res* 2021;138:155–62.

52. Salari N, Hosseini-Far A, Jalali R, Vaisi-Raygani A, Rasoulpoor S, Mohammadi M, et al.: Prevalence of stress, anxiety, depression among the general population during the COVID-19 pandemic: a systematic review and meta-analysis. *Globalization and Health* 2020; 6: 57. <https://doi.org/10.1186/s12992-020-00589-w>
53. Shuja KH, Aqeel M, Jaffar A, Ahmed A: COVID-19 pandemic and impending global mental health implications. *Psychiatr Danub* 2020; 32:32-35. <https://doi.org/10.24869/psyd.2020.32>
54. Silva WAD, Brito TR de S, Pereira CR. Anxiety associated with COVID-19 and concerns about death: Impacts on psychological well-being. *Pers Individ Dif [Internet]* 2021 Jul;176:110772. Available from: <https://linkinghub.elsevier.com/retrieve/pii/S0191886921001471>
55. Solomou I & Constantinidou F: Prevalence and Predictors of Anxiety and Depression Symptoms during the COVID-19 Pandemic and Compliance with Precautionary Measures: Age and Sex Matter. *International Journal of Environmental Research and Public Health* 2020; 8:4924. <https://doi.org/10.3390/ijerph17144924>
56. Sønderkov KM, Dinesen PT, Vistisen HT, Østergaard SD. Variation in psychological well-being and symptoms of anxiety and depression during the COVID-19 pandemic: results from a three-wave panel survey. *Acta Neuropsychiatrica* 2021;33(3):156-9.
57. Srivastava A, Bala R, Srivastava AK, et al.: Anxiety, obsession and fear from coronavirus in Indian population: a web-based study using COVID-19 specific scales. *International Journal of Community Medicine and Public Health* 2020; 7:4570-7. <https://dx.doi.org/10.18203/2394-6040.ijcmph20204763>
58. Stimson, R: *Handbook of research methods and applications in spatially integrated social science*. Edward Elgar Publishing 2014.
59. Sönmez V & Alacapınar FG. [Scientific research methods] (3rd Ed.) [In Turkish]; Ankara 2014.
60. Tabachnick BG & Fidell LS: *Using multivariate statistics*. 6th Edt. New York 2012.
61. Tanır Y, Karayagmurlu A, Kaya İ, et al.: Exacerbation of obsessive compulsive disorder symptoms in children and adolescents during COVID-19 pandemic. *Psychiatry Research* 2020; 293:113363. <https://doi.org/10.1016/j.psychres.2020.113363>
62. TRNC Statistical Institute. *Population Census*. <http://www.stat.gov.ct.tr/nufus2011.aspx>; 2011.
63. TRNC Ministry of Health. *Covid-19 General Statistics* 2021. <https://saglik.gov.ct.tr/COVID-19-GENEL-DURUM>
64. Tsoy D, Tirasawasdichai T, Ivanovich Kurpayanidi K. Role of social media in shaping public risk perception during COVID-19 pandemic: A theoretical review. *Int J Manag Sci Bus Adm* 2021;7(2):35-41. <https://doi.org/10.18775/ijms-ba.1849-5664-5419.2014.72.1005>
65. Volkan E & Volkan E: Under the COVID-19 lockdown: Rapid review about the unique case of North Cyprus. *Psychological Trauma: Theory, Research, Practice, and Policy* 2020; 12:539-541. <https://doi.org/10.1037/tra0000809>
66. Wang C, Pan R, Wan X, Tan Y, Xu L, Ho CS et al.: Immediate Psychological Responses and Associated Factors during the Initial Stage of the 2019 Coronavirus Disease (COVID-19) Epidemic among the General Population in China. *International Journal Of Environmental Research And Public Health* 2020; 6:1729. <https://doi.org/10.3390/ijerph17051729>
67. Wheaton MG, Abramowitz JS, Berman NC, Riemann BC, Hale LR. The relationship between obsessive beliefs and symptom dimensions in obsessive-compulsive disorder. *Behaviour Research and Therapy* 2010; 48:949-954. <https://doi.org/10.1016/j.brat.2010.05.027>
68. Wheaton MG, Abramowitz JS, Berman NC, Fabricant LE, Olantunji BO: Psychological predictors of anxiety in response to the H1N1 (swine flu) pandemic. *Cognitive Therapy and Research* 2012; 36:210-218. <https://doi.org/10.1007/s10608-011-9353-3>
69. Wheaton MG, Prikhidko A, Messner GR: Is fear of COVID-19 contagious? The effects of emotion contagion and social media use on anxiety in response to the coronavirus pandemic. *Frontiers in Psychology* 2021; 5:567379. <https://doi.org/10.3389/fpsyg.2020.567379>
70. World Health Organization. *Coronavirus disease 2019 (COVID-19): situation report 2020;70*. <https://apps.who.int/iris/bitstream/handle/10665/331683/nCoVsitrep-30Mar2020-eng.pdf>
71. World Health Organization. *WHO Coronavirus Disease (COVID-19) Dashboard* 2021. Retrieved from <https://covid19.who.int/>
72. World Health Organization. *Wake-up call to all countries to step up mental health services and support [Internet]* 2022. Retrieved from: [https://www.who.int/news/item/02-03-2022-covid-19-pandemic-triggers-25-increase-in-prevalence-of-anxiety-and-depression-worldwide#:~:text=In%20the%20first%20year%20of,Health%20Organization%20\(WHO\)%20today](https://www.who.int/news/item/02-03-2022-covid-19-pandemic-triggers-25-increase-in-prevalence-of-anxiety-and-depression-worldwide#:~:text=In%20the%20first%20year%20of,Health%20Organization%20(WHO)%20today)
73. Xu K, Cai H, Shen Y, Ni Q, Chen Y, Hu S, et al.: [Management of corona virus disease-19 (COVID-19): the Zhejiang experience]. In *Chinese* 2020; 21:147-157.
74. Zhu J, Su L, Zhou Y, Qiao J, Hu W: The effect of nationwide quarantine on anxiety levels during the COVID-19 outbreak in China. *Brain Behavior* 2021; 11:e01938. <https://doi.org/10.1002/brb3.1938>

Correspondence:

Bengü Berkmen

Cyprus International University, Faculty of Arts
and Sciences, Department of Psychology
North Cyprus via Mersin 10 Turkey
bberkmen@ciu.edu.tr